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GEOMETRY

Exercise 4 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. In the figure, AB parallel to CD, find x. 

Watch Video Solution

2. The angles of a triangle are in the ratio 1:2:3,

find the measure of each angles of the

triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_UIcwoSDK3BPs
https://dl.doubtnut.com/l/_FXVZut3BLPWL
https://dl.doubtnut.com/l/_BnntJXs3cazh


3. Consider the given pairs of triangles and say

whether each pair is that of congruent

triangles. If the triangles are congruent, say

'how', if they are not congruent say 'why' and

also say if a small modification would them

congruent : 

Watch Video Solution

https://dl.doubtnut.com/l/_BnntJXs3cazh


Exercise 4 2

4.  and  are two triangles in

which AB=DF,

and . Prove that the triangles

are congruent.

Watch Video Solution

△ ABC △ DEF

∠ACB = 70∘ , ∠ABC = 60∘ , ∠DEF = 70∘

∠EDF = 60∘

https://dl.doubtnut.com/l/_PonArbHPXhi0


1. The angles of a quadrilateral are in the ratio

2:4:5:7. Find all the angles.

Watch Video Solution

2. In a quadrilateral ABCD,  and 

is the supplementary of . The other two

angles are  and . Find the value

of x and the measure of all the angles.

Watch Video Solution

∠A = 72∘ ∠C

∠A

2x − 10 x + 4

https://dl.doubtnut.com/l/_GBDt9FVTjmcZ
https://dl.doubtnut.com/l/_i90NPTYD4Dmm
https://dl.doubtnut.com/l/_NblYEMzsLcEi


3. ABCD is a rectangle whose diagonals AC and

BD intersect at O. If , find 

.

Watch Video Solution

∠OAB = 46∘

∠OBC

4. The lenghts of the diagonals of a Rhombus

are 12 cm and 16 cm. Find the side of the

rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_NblYEMzsLcEi
https://dl.doubtnut.com/l/_ZcNh52539ZbV
https://dl.doubtnut.com/l/_DqyzrKGrAcrW


5. Show that the bisectors of angles of a

parallelogram form a rectangle.

Watch Video Solution

6. If a triangle and a parallelogram lie on the

same base and between the same parallels,

then prove that the area of the triangle is

equal to half of the area of parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_DqyzrKGrAcrW
https://dl.doubtnut.com/l/_fXRBzOTxsk9p


7. In the figure . If

BO and CO are the bisectors of  and 

 respectively of , find  and 

.

Watch Video Solution

∠A = 64∘ , ∠ABC = 58∘

∠ABC

∠ACB △ ABC x ∘

y ∘

8. In the given figure, ABCD is a rectangle and

EFGH is a parallelogram. Using the

measurements given in the figure, what is the

https://dl.doubtnut.com/l/_RuqeluZq6xPB
https://dl.doubtnut.com/l/_i7bSWnl3BDuN


Exercise 4 3

length ''d'' of the segment that is

perpendicular to  and  ?

Watch Video Solution

¯̄¯̄¯̄HE ¯̄¯̄̄ ¯FG

1. The diameter of the circle is 52 cm and the

length of one its chord is 20 cm. Find the

distance of the chord from the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_i7bSWnl3BDuN
https://dl.doubtnut.com/l/_M2UThLjWBc0E
https://dl.doubtnut.com/l/_JtIKwwjGRApF


2. The chord of length 30 cm is drawn at the

distance of 8 cm from the centre of the circle

Find the radius of the circle.

Watch Video Solution

3. Find the length of the chord AC where AB

CD are the diameters perpendicular to each

other of a circle with radius  cm and also

find  and 

Watch Video Solution

4√2

∠OAC ∠OCA

https://dl.doubtnut.com/l/_JtIKwwjGRApF
https://dl.doubtnut.com/l/_1J0RNpA1323t


4. A chord is 12 cm away from the centre of the

circle of radius 15cm. Find the lengh of the

chord.

Watch Video Solution

5. In a circle, AB and CD are two parallel chords

with centre O and radius 10 cm such that

AB=16 cm and CD= 12 cm determine the

distance between the two chords?

Watch Video Solution

https://dl.doubtnut.com/l/_1J0RNpA1323t
https://dl.doubtnut.com/l/_DNUFwfXNjHq6
https://dl.doubtnut.com/l/_UvR24h18n24A


6. Two circles of radii 5 cm and 3 cm intersect

at two points and the distance between their

centres is 4 cm. Find the length of the

common chord.

Watch Video Solution

7. In the given figure, , find 

 and . 


∠CAB = 25∘

∠BDC, ∠DBA ∠COB

https://dl.doubtnut.com/l/_UvR24h18n24A
https://dl.doubtnut.com/l/_2M3KMsEFmYAl
https://dl.doubtnut.com/l/_dO1S4CCyUALb


Exercise 4 4

Watch Video Solution

https://dl.doubtnut.com/l/_dO1S4CCyUALb


1. Find the value of x in the given figure. 

Watch Video Solution

https://dl.doubtnut.com/l/_A2ZHWWNPxlM0


2. In the given figure, AC is the diameter of the

circle with center O. If

 and 

. 


Find (i) , (ii) , (iii)  


Watch Video Solution

∠ADE = 30∘ , ∠DAC = 35∘

∠CAB = 40∘

∠ACD ∠ACB ∠DAE

3. Find all the angles of the given cycle

quadrilateral ABCD in the figure. 

https://dl.doubtnut.com/l/_Chiqw3pfcpYw
https://dl.doubtnut.com/l/_H5CLXdEqL4T1


Watch Video Solution

4. In the given figure, AB and CD are the

parallel chords of a circle with centre O. Such

that AB = 8 cm and CD = 6 cm. If 

and  distance becween LM is 7 cm.

OM ⊥ AB

OL ⊥ CD

https://dl.doubtnut.com/l/_H5CLXdEqL4T1
https://dl.doubtnut.com/l/_3NqeiEVXD7GV


Find the radius of the circle ? 

Watch Video Solution

https://dl.doubtnut.com/l/_3NqeiEVXD7GV


5. The arch of a bridge has dimensions as

shown, where the arch measure 2 m at its

highest point and width is 6 m. What is the

radius of the circle that contains the arch ? 

Watch Video Solution

https://dl.doubtnut.com/l/_AY7oljFIXROC


6. In figure , where A,B and C

are points on the circle with centre O. Find

 ? 


Watch Video Solution

∠ABC = 120∘

∠OAC

https://dl.doubtnut.com/l/_UMZD2ujNzlrv
https://dl.doubtnut.com/l/_GqoLAsDIGkeK


7. A school wants to conduct tree plantation

programme. For this a teacher allotted a circle

of radius 6m ground to nineth standard

students for plating sapplings. Four students

plant trees at the points A,B,C and D as shown

in figure. Here AB = 8m, CD = 10 m and

. If another student places a flower

pot at the point P, the intersection of AB and

AB ⊥ CD

https://dl.doubtnut.com/l/_GqoLAsDIGkeK


CD, then find the distance from the centre to P.

Watch Video Solution

8. In the given figure,  and 

, then find . 


∠POQ = 100∘

∠PQR ∘ = 30∘ ∠RPO

https://dl.doubtnut.com/l/_GqoLAsDIGkeK
https://dl.doubtnut.com/l/_d1SQeN1pkBhA


Exercise 4 5

Watch Video Solution

1. Construct the  such that LM= 7.5

cm, MN= 5 cm and LN= 8 cm. Locate its

△ LMN

https://dl.doubtnut.com/l/_d1SQeN1pkBhA
https://dl.doubtnut.com/l/_vH07k4aNVSyx


centroid.

Watch Video Solution

2. Draw and locate the centroid of the triangle

ABC where right angle at A, AB= 4 cm and AC =

3cm.

Watch Video Solution

3. Draw the , where AB = 6cm, 

 and AC = 9 cm and construct the

△ ABC

B = 110∘

https://dl.doubtnut.com/l/_vH07k4aNVSyx
https://dl.doubtnut.com/l/_tX47bZcKzqRD
https://dl.doubtnut.com/l/_nGkmFhwi6wXk


centroid.

Watch Video Solution

4. Construct the  such that PQ = 5cm,

PR= 6cm and  and locate its

centroid.

Watch Video Solution

△ PQR

∠QPR = 60∘

5. Draw  with sides PQ= 7 cm, QR = 8

cm and PR = 5cm and construct its

△ PQR

https://dl.doubtnut.com/l/_nGkmFhwi6wXk
https://dl.doubtnut.com/l/_Sew1grKPCUpR
https://dl.doubtnut.com/l/_vu7qClzjNKKN


Orthocentre.

Watch Video Solution

6. Draw an equilibrium triangle of sides 6.5 cm

and locate its Orthocentre.

Watch Video Solution

7. Draw , where AB= 6cm, 

and BC = 5 cm and construct its Orthocentre.

Watch Video Solution

△ ABC ∠B = 110∘

https://dl.doubtnut.com/l/_vu7qClzjNKKN
https://dl.doubtnut.com/l/_tC6dAcJSKRQH
https://dl.doubtnut.com/l/_8Ktm9YXhWAI7


Exercise 4 6

8. Draw and locate the Orthocentre of a right

triangle PQR where PQ = 4.5 cm, QR = 6cm and

PR = 7.5 cm.

Watch Video Solution

1. Draw a triangle ABC, where AB= 8cm, BC=

6cm and  and locate its∠B = 70∘

https://dl.doubtnut.com/l/_8Ktm9YXhWAI7
https://dl.doubtnut.com/l/_TGvcpvoVjV2O
https://dl.doubtnut.com/l/_nGWakFq44aZN


circumcentre and draw the circumcircle.

Watch Video Solution

2. Construct the right triangle PQR whose

perpendicular sides are 4.5 cm and 6 cm. Also

locate its circumcenter and draw the

circumcircle.

Watch Video Solution

https://dl.doubtnut.com/l/_nGWakFq44aZN
https://dl.doubtnut.com/l/_bdpooH2JVRTX


3. Construct  with AB= 5 cm 

 and BC= 6 cm. Also locate its

circumcentre draw circumcircle.

Watch Video Solution

△ ABC

∠B = 100∘

4. Construct an isosceles triangle PQR where

PQ = PR and , QR = 7 cm. Also draw

its circumcircle.

Watch Video Solution

∠Q = 50∘

https://dl.doubtnut.com/l/_PLGaDv351yHW
https://dl.doubtnut.com/l/_JrDJk3AzoaBe
https://dl.doubtnut.com/l/_vr9Vro2LmGaA


5. Draw an equilateral triangle of side 6.5 cm

and locate its incentre. Also draw the incircle.

Watch Video Solution

6. Draw a right triangle whose hypotenuse is

10 cm and one of the legs is 8 cm. Locate its

incenter and also draw the incircle.

Watch Video Solution

https://dl.doubtnut.com/l/_vr9Vro2LmGaA
https://dl.doubtnut.com/l/_7Gi8mJeigQ0f


7. Draw  given AB = 9 cm, 

 and . Locate

its incenter and also draw the incircle.

Watch Video Solution

△ ABC

∠CAB = 115∘
△ ABC = 40∘

8. Construct , in which AB= BC= 6 cm

and . Locate its in centre and draw

the incircle.

Watch Video Solution

△ ABC

B = 80∘

https://dl.doubtnut.com/l/_v2DOwXuluD5n
https://dl.doubtnut.com/l/_DBtwgzudvDow


Exercise 4 7

1. The exterior angle of a triangle is equal to

the sum of two

A. Exterior angles

B. Interior opposite angles

C. Alternate angles

D. Interior angles

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_aBy0gLJvijOp


2. In the quadrilateral ABCD, AB=BC and AD=DC

Measure of  is . . . . . . . 

A. 

B. 

∠BCD

150∘

30∘

https://dl.doubtnut.com/l/_aBy0gLJvijOp
https://dl.doubtnut.com/l/_nvo4vEzvEgM0


C. 

D. 

Answer: C

Watch Video Solution

105∘

72∘

3. ABCD is a square, diagonals AC and BD meet

at O. The number of pairs of congruent

https://dl.doubtnut.com/l/_nvo4vEzvEgM0
https://dl.doubtnut.com/l/_evZjxzwWQMQo


triangles with vertex O are . . . . . . . 

A. 6

B. 8

C. 4

https://dl.doubtnut.com/l/_evZjxzwWQMQo


D. 12

Answer: A

Watch Video Solution

4. In the given figure  then value

of  is . . . . . . . . . 


CE ∣ ∣ DB

x ∘

https://dl.doubtnut.com/l/_evZjxzwWQMQo
https://dl.doubtnut.com/l/_V81IZRxEaaX1


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

45∘

30∘

75∘

85∘

5. If the diagonal of a rhombus are equal, then

the rhombus is a

https://dl.doubtnut.com/l/_V81IZRxEaaX1
https://dl.doubtnut.com/l/_Dn1bNE5K2mG8


A. Parallelogram but not a rectangle

B. Rectangle but not a square

C. Square

D. Parallelogram but not a square

Answer: C

Watch Video Solution

6. If bisectors of  and  of a quadrilateral

ABCD meet at O, then  is

∠A ∠B

∠AOB

https://dl.doubtnut.com/l/_Dn1bNE5K2mG8
https://dl.doubtnut.com/l/_VXUyfv0Rz3O1


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∠C + ∠D

(∠C + ∠D)
1

2

∠C + ∠D
1

2

1

3

∠C + ∠D
1

3

1

2

7. The interior angle made by the side in a

parallelogram is  then the parallelogram is

a

90∘

https://dl.doubtnut.com/l/_VXUyfv0Rz3O1
https://dl.doubtnut.com/l/_HGA0S88zQpAG


A. rhombus

B. rectangle

C. trapezium

D. Kite

Answer: B

Watch Video Solution

8. Which of the following statement is correct?

https://dl.doubtnut.com/l/_HGA0S88zQpAG
https://dl.doubtnut.com/l/_jviLOChtGIOJ


A. Opposite angles of a parallelogram are

not equal

B. Adjacent angles of a parallelogram are

complementary

C. Diagonals of a parallelogram are always

equal

D. Both pairs of opposite side of a

parallelogram are always equal.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jviLOChtGIOJ


9. The angles of the triangles are 3x-40, x+20

and 2x-10 then the value of x is

A. 40

B. 35

C. 50

D. 45

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jviLOChtGIOJ
https://dl.doubtnut.com/l/_aw4rNRsiGU08


10. PQ and RS are two equal chords of a circle

with centre O such that , then

ORS =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠POQ = 70∘

60∘

70∘

55∘

80∘

https://dl.doubtnut.com/l/_VirTQOJHtwcx


11. A chord is at a distance of 15 cm from the

center of the circle of radius 25 cm. The length

of the chord is

A. 25 cm

B. 20 cm

C. 40 cm

D. 18 cm

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_t8SExtSjrxtL


12. In the figure, O is the centre of the circle

and  then  = . . . . . . . . . . 


A. 

B. 

∠ACB = 40∘ ∠AOB

80∘

85∘

https://dl.doubtnut.com/l/_mKOqtssyCc98


C. 

D. 

Answer: A

Watch Video Solution

70∘

65∘

13. In a cyclic quadrilaterals ABCD,

 the value of x is

A. 

B. 

∠A = 4x, ∠C = 2x

30∘

20∘

https://dl.doubtnut.com/l/_mKOqtssyCc98
https://dl.doubtnut.com/l/_4pwpsE7J7017


C. 

D. 

Answer: A

View Text Solution

15∘

25∘

14. In the figure, O is the centre of a circle and

diametre AB bisects the chord CD at a point E

such that CE= ED = 8 cm and EB = 4 cm. The

radius of the circle is

https://dl.doubtnut.com/l/_4pwpsE7J7017
https://dl.doubtnut.com/l/_y5rPqY3cNc4A


A. 8 cm

B. 4 cm

C. 6 cm

D. 10 cm

Answer: D

View Text Solution

15. If one angle of a cyclic quadrilateral is ,

then the opposite angle is

75∘

https://dl.doubtnut.com/l/_y5rPqY3cNc4A
https://dl.doubtnut.com/l/_CQVMeuy3LYAK


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

100∘

105∘

85∘

90∘

16. In the figure, ABCD is a cyclic quadrilateral

in which DC produced to E and CF is drawn

parallel to AB such that  and ∠ADC = 80∘

https://dl.doubtnut.com/l/_CQVMeuy3LYAK
https://dl.doubtnut.com/l/_6OAYEHnuhoup


, then BAD = ? 


A. 

B. 

C. 

D. 

Answer: C

∠ECF = 20∘

100∘

20∘

120∘

110∘

https://dl.doubtnut.com/l/_6OAYEHnuhoup


Watch Video Solution

17. AD is a diameter of a circle and AB is a

chord. If AD= 30 cm and AB = 24 cm then the

distance of AB from the centre of the circle is

A. 10 cm

B. 6 cm

C. 7 cm

D. 9 cm

Answer: B

https://dl.doubtnut.com/l/_6OAYEHnuhoup
https://dl.doubtnut.com/l/_ybfCHqkXuNNs


Watch Video Solution

18. In the given figure, If OP= 17 cm PQ= 30 cm

and OS is perpendicular to PQ, then RS is

A. 10 cm

B. 6 cm

C. 7 cm

D. 9 cm

Answer: D

https://dl.doubtnut.com/l/_ybfCHqkXuNNs
https://dl.doubtnut.com/l/_6RlFSIllx1KK


Additional Questions And Answers Exercise 4 1

Watch Video Solution

1. Find the complement of a each of the

following angles 

(i) , (ii) , (iii) 

Watch Video Solution

63∘ 24∘ 48∘

2. Find the supplement of each of the

following angles 

https://dl.doubtnut.com/l/_6RlFSIllx1KK
https://dl.doubtnut.com/l/_1qzTUzIeqhQj
https://dl.doubtnut.com/l/_7Y0PcrjiAhJi


Additional Questions And Answers Exercise 4 2

(i) ,(ii) , (iii) 

Watch Video Solution

58∘ 148∘ 120∘

1. If the measures of three angles of a

quadrilateral are and  then, find

the measure of fourth angle.

Watch Video Solution

100∘ , 84∘ 76∘

https://dl.doubtnut.com/l/_7Y0PcrjiAhJi
https://dl.doubtnut.com/l/_lWvUwgRk5ZTA


2. In the parallelogram ABCD if , find

 and .

Watch Video Solution

∠A = 65∘

∠B, ∠C ∠D

3. If ABCD is a rhombus and if , find 

.

Watch Video Solution

∠A = 76∘

∠CDB

https://dl.doubtnut.com/l/_EpXiVIcFELFi
https://dl.doubtnut.com/l/_OmKzMVQyrZ6B


Additional Questions And Answers Exercise 4 3

4. Prove: In a parallelogram, opposite sides are

equal.

Watch Video Solution

5. The angles of a quadrilateral are in the ratio

 Find all the angles.

Watch Video Solution

1: 2: 3: 4.

https://dl.doubtnut.com/l/_TkNmFV4H21eD
https://dl.doubtnut.com/l/_u6GTl6dOrhAL
https://dl.doubtnut.com/l/_XozsG92E88BB


1. The radius of a circle 15 cm and the length of

one of its chord is 24 cm. Find the distance of

the chord from the centre.

Watch Video Solution

2. The chord of length 32 cm is drawn at the

distance of 12 cm from the centre of the circle.

Find the radius of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_XozsG92E88BB
https://dl.doubtnut.com/l/_BCUziZil3rFF
https://dl.doubtnut.com/l/_fmULdXiywTfY


3. In a circle, AB and CD are two parallel chords

with centre O and radius 5 cm such that AB = 8

cm and CD = 6 cm determine the distance

between the chords?

Watch Video Solution

4. Find the value of  

Watch Video Solution

x

https://dl.doubtnut.com/l/_fmULdXiywTfY
https://dl.doubtnut.com/l/_ShLx0eLzBLBl


Additional Questions And Answers Exercise 4 4

1. Find the value of x in the given figure. 

Watch Video Solution

https://dl.doubtnut.com/l/_HL5CIPde9VzX


2. Find all the angles of the given cycle

quadrilateral ABCD in the figure. 

Watch Video Solution

3. AB and CD are two parallel sides of a cyclic

quadrilateral ABCD such that AB = 12 cm, CD =

16 cm and the radius of the circle is 10 cm. Find

the shortest distances between the two sides

https://dl.doubtnut.com/l/_HL5CIPde9VzX
https://dl.doubtnut.com/l/_mJU8fdTARuvt
https://dl.doubtnut.com/l/_0nz50Q7S9OL3


AB and CD. 

Watch Video Solution

4. In the given figure, AB and CD are the

parallel chords of a circle with centre O. Such

that AB = 8 cm and CD = 6 cm. If 

and  distance becween LM is 7 cm.

OM ⊥ AB

OL ⊥ CD

https://dl.doubtnut.com/l/_0nz50Q7S9OL3
https://dl.doubtnut.com/l/_2ppLeEDZnwwJ


Additional Questions And Answers Exercise 4 5

Find the radius of the circle ? 

Watch Video Solution

https://dl.doubtnut.com/l/_2ppLeEDZnwwJ


1. Construct an equilateral triangle of sides 6

cm and locate its orthocentre.

Watch Video Solution

2. Draw and locate the orthocentre ofa right

triangle PQR right angled at Q, with PQ = 4.5

cm and QR = 6 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_RDSD5fjdrvi1
https://dl.doubtnut.com/l/_tBJWif6hLJRX
https://dl.doubtnut.com/l/_7gHdqpVMvpjK


Additional Questions And Answers Exercise 4 6

3. Construct the circumcentre of the 

with AB = 5 cm,  and ,

also draw two circumcircle and find the circum

radius of the .

Watch Video Solution

△ ABC

∠A = 60∘ ∠B = 80∘

△ ABC

1. Draw the circumcircle for an equilateral

triangle of side 6 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_7gHdqpVMvpjK
https://dl.doubtnut.com/l/_bdYJbEzrOFFx


2. Construct the centroid of  such

that PQ = 9cm, PQ = 7 cm, RP = 8 cm.

Watch Video Solution

△ PQR

3. Draw and locate the centroid of the triangle

ABC where right angle at A, AB = 8 cm and AC =

6 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_bdYJbEzrOFFx
https://dl.doubtnut.com/l/_cBPmMoA3C0H1
https://dl.doubtnut.com/l/_8ga9RpfvYbFA
https://dl.doubtnut.com/l/_WAVpYtJ2EMkC


Exercise 4 7 Multiple Choice Questions

4. Construct the centroid of  PQR whose

sides are PQ = 8 cm, QR = 6 cm, RP = 7 cm.

Watch Video Solution

ϕ

1. If an angle is equal to one third of its

supplement, its measure is equal to

A. 

B. 

40∘

50∘

https://dl.doubtnut.com/l/_WAVpYtJ2EMkC
https://dl.doubtnut.com/l/_lRgyr6dMB4ra


C. 

D. 

Answer: C

Watch Video Solution

45∘

55∘

2. The complement of an angle exceeds the

angle by . Then the angle is equal to

A. 

B. 

60∘

25∘

30∘

https://dl.doubtnut.com/l/_lRgyr6dMB4ra
https://dl.doubtnut.com/l/_3bJRwDi23RAt


C. 

D. 

Answer: C

Watch Video Solution

15∘

35∘

3. ABCD is a parallelogram, E is the mid-point

of AB and CE bisects . Then  is

A. 

B. 

∠BCD ∠DEC

60∘

90∘

https://dl.doubtnut.com/l/_3bJRwDi23RAt
https://dl.doubtnut.com/l/_rluzW6loFnOk


C. 

D. 

Answer: B

Watch Video Solution

100∘

120∘

4. If the length of a chord decreases, then its

distance from the centre __________

A. increases

B. decreases

https://dl.doubtnut.com/l/_rluzW6loFnOk
https://dl.doubtnut.com/l/_WPzbV8g6LavM


C. same

D. cannot say

Answer: A

Watch Video Solution

5. In the figure, O is the centre of the circle and

 then  = . . . . . . . . . . 
∠ACB = 40∘ ∠AOB

https://dl.doubtnut.com/l/_WPzbV8g6LavM
https://dl.doubtnut.com/l/_I5Ah14lQri4r


A. 

B. 

C. 

D. 

60∘

90∘

120∘

180∘

https://dl.doubtnut.com/l/_I5Ah14lQri4r


Answer: C

Watch Video Solution

6. The angle subtend by a semicircle at the

centre is _________.

A. 

B. 

C. 

D. 

60∘

90∘

120∘

180∘

https://dl.doubtnut.com/l/_I5Ah14lQri4r
https://dl.doubtnut.com/l/_Iu7fxp4J3c1q


Answer: D

Watch Video Solution

7. The angle subtend by a semicircle at the

remaining part of the circumference is

__________.

A. 

B. 

C. 

D. 

60∘

90∘

120∘

180∘

https://dl.doubtnut.com/l/_Iu7fxp4J3c1q
https://dl.doubtnut.com/l/_K41tZysHkCqh


Unit Test Section A

Answer: B

Watch Video Solution

1. The exterior angle of a triangle is equal to

the sum of two

A. Exterior angles

B. Interior opposite angles

C. Alternate angles

https://dl.doubtnut.com/l/_K41tZysHkCqh
https://dl.doubtnut.com/l/_vUbupc0IwDr3


D. Interior angles

Answer: B

Watch Video Solution

2. ABCD is a square, diagonals AC and BD meet

at O. The number of pairs of congruent

https://dl.doubtnut.com/l/_vUbupc0IwDr3
https://dl.doubtnut.com/l/_wjNZ7UxyrGic


triangles with vertex O are . . . . . . . 

A. 6

B. 8

C. 4

https://dl.doubtnut.com/l/_wjNZ7UxyrGic


D. 12

Answer: A

Watch Video Solution

3. If bisectors of  and  of a quadrilateral

ABCD meet at O, then  is

A. 

B. 

C. 

∠A ∠B

∠AOB

∠C + ∠D

(∠C + ∠D)
1

2

∠C + ∠D
1

2

1

3

https://dl.doubtnut.com/l/_wjNZ7UxyrGic
https://dl.doubtnut.com/l/_frwHla6oAl1u


D. 

Answer: B

Watch Video Solution

∠C + ∠D
1

3

1

2

4. If one angle of a cyclic quadrilateral is ,

then the opposite angle is

A. 

B. 

C. 

75∘

100∘

105∘

85∘

https://dl.doubtnut.com/l/_frwHla6oAl1u
https://dl.doubtnut.com/l/_VYrbQ0laQfvb


D. 

Answer: B

Watch Video Solution

90∘

5. AD is a diameter of a circle and AB is a

chord. If AD= 30 cm and AB = 24 cm then the

distance of AB from the centre of the circle is

A. 10 cm

B. 6 cm

https://dl.doubtnut.com/l/_VYrbQ0laQfvb
https://dl.doubtnut.com/l/_CdvrWt9RYpTD


Unit Test Section B

C. 7 cm

D. 9 cm

Answer: B

Watch Video Solution

1. The angles of a triangle are in the ratio 1:2:3,

find the measure of each angles of the

triangle.

https://dl.doubtnut.com/l/_CdvrWt9RYpTD
https://dl.doubtnut.com/l/_l7Pg2HN5Vp2D


Watch Video Solution

2. ABCD is a rectangle whose diagonals AC and

BD intersect at O. If , find 

.

Watch Video Solution

∠OAB = 46∘

∠OBC

3. The angles of a quadrilateral are in the ratio

2:4:5:7. Find all the angles.

View Text Solution

https://dl.doubtnut.com/l/_l7Pg2HN5Vp2D
https://dl.doubtnut.com/l/_DMyrF210jLya
https://dl.doubtnut.com/l/_L4jezoObjpQ0


4. In the given figure, AC is the diameter of the

circle with center O. If

 and 

. 


Find (i) , (ii) , (iii)  


Watch Video Solution

∠ADE = 30∘ , ∠DAC = 35∘

∠CAB = 40∘

∠ACD ∠ACB ∠DAE

5. Draw a triangle ABC, where AB= 8cm, BC=

6cm and  and locate its∠B = 70∘

https://dl.doubtnut.com/l/_L4jezoObjpQ0
https://dl.doubtnut.com/l/_TgrajmzBtngt
https://dl.doubtnut.com/l/_W1X5cAqS2opw


Unit Test Section C

circumcentre and draw the circumcircle.

Watch Video Solution

1. In the given figure, ABCD is a cyclic

quadrilateral where diagonals intersect at P

such that  and  


find (i)  (ii) 

Watch Video Solution

∠DBC = 40∘ ∠BAC = 60∘

∠CAD ∠BCD

https://dl.doubtnut.com/l/_W1X5cAqS2opw
https://dl.doubtnut.com/l/_z6VPWTDkrDqk
https://dl.doubtnut.com/l/_yS4mpic5HXJQ


2. If a triangle and a parallelogram lie on the

same base and between the same parallels,

then prove that the area of the triangle is

equal to half of the area of parallelogram.

Watch Video Solution

3. Draw a triangle ABC, where AB= 8cm, BC=

6cm and  and locate its

circumcentre and draw the circumcircle.

Watch Video Solution

∠B = 70∘

https://dl.doubtnut.com/l/_yS4mpic5HXJQ
https://dl.doubtnut.com/l/_kewE0Aj2jHQ8


4. Draw the , where AB = 6cm, 

 and AC = 9 cm and construct the

centroid.

Watch Video Solution

△ ABC

B = 110∘

https://dl.doubtnut.com/l/_kewE0Aj2jHQ8
https://dl.doubtnut.com/l/_lkkglUoY7zSs

